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1. Express 
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 as a decimal representation.

 (i)2.2125                       

  (ii) 0.2125 

(iii) 2 

(iv) 2.225.
2. Zeros of 
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(i) 
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(ii) 
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(iii) 
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(iv) none of these.

3. If 
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 & a+c=b, then one of the zeros is 
(i) 
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(ii)
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(iii)
[image: image9.wmf]a

c

-




(iv)
[image: image10.wmf]a

b

-

.

4. The pair of linear equations 3x+4y=12  & y=4 has
 (i) no common solution 
(ii) infinitely many solutions
 (iii) unique solution 
(iv) none of these.
5. Find the value of ‘k’ for which the following pair of equations 7x+5y=10 & -14x-ky=-20 has no solution 
(i)2

(ii) 1 

(iii) -1

(iv)-2.
6. If 
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 find the value of ‘x’. 
(i)100


(ii) 200 


(iii) 300 


(iv) 400.
7. Value of  
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(i)0


(ii)1


(iii)2


(iv)-1.

8. If 
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 then the value of ‘k’ is 
(i)1

(ii)2

(iii)1/2

(iv)3/2.
9. In 
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(i) 300


(ii) 600


 (iii) 900


 (iv) 450.
10. 
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 AB=24cm AC=30cm BC=9cm PQ=16cm PR= a cm QR= b cm, then the values of ‘a’  & ‘b’ are 
(i)10,6

(ii) 20, 6

(iii) 6, 20 

(iv) 6, 10.

11. If 
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 EMBED Equation.3 [image: image18.wmf]?
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12. Which measure of central tendency is given by the x-coordinate of the point of intersection of the “more than ogive” & “less than ogive”.
                               PART-B

13. Given below are three equations two of them have infinite solutions & the two have a unique solution. State the two pairs. (i) 3x-2y=4 (ii) 6x+2y=4 (iii) 9x-6y=12.

14. If 
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 where 
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 & 
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 are both acute angles.

15. ABC is a right ∆ right angled at B, AD & CE are two medians drawn from A & C respectively. If AC=5cm & AD=
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 Find the length of CE.
16. The HCF & LCM of two numbers are 33 & 264 respectively. When the first number is divided by 2 the quotient is 33. Find the second number.
17. On dividing 
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 by the polynomial g(x), the quotient & remainder were (x-2) & (-2x+4) respectively. Find g(x) .
18. If one of the zeros of the quadratic polynomial 
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 is -3, then find the value of ‘k’.
19. M being the mean of 
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Find the value of 
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                         SECTION –C

20. Find the quadratic polynomial sum of whose zeros is 8 & their product is 12. Hence, find the zeros of the polynomial.

21. Solve by cross multiplying : 
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22. A point O in the interior of rectangle ABCD  is joined to each of the vertices A, B, C & D. Prove that 
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23. Prove that 
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24. Solve for x & y : 
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25. If 
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26. If 
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27. Determine the mean of the following distribution: 

	Marks
	No. of students

	Below 10
	5

	Below 20
	9

	Below 30
	17

	Below 40
	29

	Below 50
	45

	Below 60
	60

	Below 70
	70

	Below 80
	78

	Below 90
	83

	Below 100
	85


28. If 
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29. The median of the following data is 525. Total of the frequencies is 100. Find the values of ‘X’ & ‘Y’
	Class Intervals
	Frequency

	0-100
	2

	100-200
	5

	200-300
	X

	300-400
	12

	400-500
	17

	500-600
	20

	600-700
	Y

	700-800
	9

	800-900
	7

	900-1000
	4


                      SECTION-D
30. Show that 
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31. The ratio of the areas of similar triangles is equal to the ratio of the squares of the corresponding sides, prove 
Using the above theorem, prove that the area of the equilateral triangle described on the side of the square is half the area of the equilateral triangle described on its diagonal.
32. Use Euclid’s division algorithm to show that the cube of any positive integer is of the form 9m, 9m+1 or 9m+8.
33. A survey regarding the heights (in cms) of 50girls of class X of a school was conducted & the following data was obtained : 
	Height in (cm)
	120-130
	130-140
	140-150
	150-160
	160-170
	Total

	Number of girls
	2
	8
	12
	20
	8
	50

	
	
	
	
	
	
	

	
	
	
	
	
	
	


34. Show that the following system of equations has no solution. Also find the area between the two lines representing the equations in the 1st  quadrant. 
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